GF




5= GREASE |

uki NSl 3

a9

SN 08 mm

H 2000 mm

/

I

H 1984 mm

E===m | = m>
FU8X50 x6 3,5x32x1 3,5%9,5 x8 S6x2 M5x8 x2
4,5x60 x6 X6 4x35x2 M5x16 x2
~~ % ’5 0;
E
S
X1 X1 X2 X1 X1 X1




Neutral Clean shower

OR
WATER ONLY

n P1 L1 mm - P2 L2 mm n Vi L1 mm - V2 L2 mm
87 880-900 870-890 87 880-990 870-980 87 854-874 870-890 87 854-964 870-980
97 980-1000 970-990 97 980-1000 970-990 97 954-974 970-990 97 954-974 970-990

L1 L1
O
i a A | S
Ao G — G =
- T °) Ls
] L L
P1 — V1
L1 F
32
gL
=5 E
e e
O O
. o = L0 2 i s
G a 1 a
S E— o
N A —— 22 N P e
~ v Nt L1(-16mm)| ™ [~ ™
wef - of o
of -
Vi
P1







=

FU8x50 x6

S

4,5x60 x6




) |

K

i

C——
-

7\
S\ 7.\
y 77 ,‘&w >>+!My

/ VA |




.
Ey
/!

7

3,5x9,5 mm x2

i

(>

g3 mm
®,

ww 09

e







3,5x9,5 mm x4

/\< <
(ju>







(>
3,5%9,5x2 R

> #

M5x8 x2 <)
47 B ><f> _ ’ -
PR o | S =

M5x16 X2 \\9 ' 4













Note:

15




60146DY2 (03 2022)




